What is the demographic transition model?
[image: Image result for demographic transition model]
[bookmark: _GoBack]Describe what each stage is like and give an example country in each stage
Causes of uneven development are?
Physical -
Historical – 
Economic - 
What does a population pyramid show and how is it linked to the DTM?
[image: Image result for population pyramids]

Economic futures in the UK.
What economic changes have occurred in the UK? 
THINK: Clarke-Fisher! REMEMBER: de-industrialisation, globalisation, mechanisation, IT and government policies





What are science and business parks and how do the two differ?




How is the UKs rural landscape changing socially & economically?




What is the UKs north-south divide and how can address it?




How can improvements in transport infrastructure enable the UK economy? THINK: rail, road, ports and airport.




What impacts does one industry have on the environment? How can we make this more sustainable? EXAMPLE: Car manufacturing – Nissan in Sunderland (give 5 facts)





What is the UKs place in the wider world? 
THINK: trade, transport, communication and culture











  

Mind Map Paper 2 – Economic World

Importance (regional, national and internationally) -
*
*
*

The impact economic growth has had on the environment – 


The impact of economic growth has had on quality of life in Nigeria - 

CASE STUDY – NEE: Nigeria 

Location – 

Background: Politics, Socially, Culturally and Environmentally – 

The changing industrial structures/sectors of the economy – 

The role of TNCs in Nigeria: Advantages and disadvantages – 

The changing political and trading relationship with the wider world and Nigeria – 

The impacts of aid within Nigeria – 
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